
POWER TOOLS

www.ronixtools.com

3100K
Mini Angle Grinder 1100W



POWER TOOLS

www.ronixtools.com

Number Name

1 outer flange

2 grinding disc

3 inner flange

4 grinding wheel guard

5 screw M6x18

6 dust cover

7 screw M4x14

8 spring washer4

9 flat washer 4

10 front cover

11 bearing 6201-2RST

12 bearing plate

13 screw M4X10

14 output shaft

15 key 2.5×3.7×φ10

16 big gear

17 circlip 11

18 bearing 696  -2Z

19 gear box

20 screw ST4.2X22

21 lock pin

22 lock spring

23 circlip 6

24 hex nut M6

25 pinion

26 bearing 629-2RST

27 bearing clamp

28 screw M4X12

29 dust washer

30 armature

31 dust ring

32 bearing 607-2rst

33 bearing sleeve

34 wind baffle

35 screw

36 stator

37 motor housing

38 carbon brush 

39 brush holder 

40 screw

41 screw ST4.2X 14

42 cable plate

43 switch

44 switch push

45 switch push rod

3100K
Mini Angle Grinder 1100W

Number Name

46 spring of push rod

47 capacitance (0.33uf)

48 regular speed controller

49 rear cover

50 net plate 

51 screw

52 cable guard

53 cable

54 spanner

55 side handle


